Whitman College

Econ 107

Exam 3

April 20, 2006

Write all answers in your blue book.  Show your work.  The exam ends at 11:50.

1.  Gross domestic product (GDP) is calculated using the following equation, where C is consumption expenditures, I is investment expenditures, G is government spending, EX is exports, and IM is imports (EX - IM is referred to as net exports): 

GDP = C + I + G + EX - IM 

(a) (3pts)  Define investment expenditures. 

(b) (2pts)  Why is the value of imports subtracted from the sum of C, I, G, and EX in calculating GDP?

2.  (5pts)  Which of the following would be included in the calculation of Gross Domestic Product for the United States?  

A.  The money Philadelphia spends to hire extra police when the crime rate increases

B.  The amount spent repairing hurricane damage in Louisiana 

C.  The value of leisure time for residents of Kansas

D.  American military expenditures on an airplane built in Seattle and used for fighting the war in Iraq
E.  The amount Pepsi-Cola spends to build a new bottling plant in San Diego, CA.

F.  The amount a Finnish company spends to build office space in Florida

G.  The amount Pepsi-Cola spends to build a bottling plant in Mexico

H.  The value of the new motorcycles Harley-Davidson adds to its inventory

I.   The amount a Californian spends to purchase 150 shares of Microsoft stock

J.   The amount a German spends to purchase 150 shares of Microsoft stock

3.  The table below shows the nominal and real Gross Domestic Product for the United States for 1996 through 1998.

	
	1996
	1997
	1998

	Nominal GDP

(Billions of dollars)
	7,813
	8,318
	8.782

	Real GDP

(Billions of 1996 dollars)
	7,813
	8,160
	8,509


(a)  (2pts)  What is the growth rate of real GDP between 1997 and 1998?

(b)  (3pts)  What is the GDP deflator in 1998? 

(c)  (5pts)  Use the GDP deflator to calculate the inflation rate between 1997 and 1998.

 

4.  (15 pts)  Consider the following information.

	Year
	1945
	1963
	1988
	2002

	 Golfer
	Byron Nelson
	Arnold Palmer
	Curtis Strange
	Tiger Woods

	 Winnings (expressed in that year’s dollars)
	$63,336
	$128,230
	$1,147,644
	$6,912,625

	 Consumer Price Index
	18.0
	31.6
	118.3
	179.9


Source: Hickoksports.com and Bureau of Labor Statistics

What is the value of each of the golfer’s winnings expressed in 2002 dollars?  

In real terms, has prize money for these golfers increased very much over time, or is the increase due mainly to inflation?

 

5.  Use the following information to answer questions (a)-(d).  

Suppose that this month (April) there are 3.9 million people unemployed and 87.7 million people employed in a hypothetical country.   Suppose also that the frictional rate of unemployment is 3.1% and that the structural rate of unemployment is 2.2% in this country. 

(a) (5pts)  What is April’s unemployment rate in this country?

(b)  (5pts)  What is the natural rate of unemployment for this country?

(c) (5pts)  What is the cyclical rate of unemployment in April?

(d)  (5pts)  In April, this economy is operating in what phase of the business cycle?

6.  Bill has the following:



$600 in a money-market mutual fund



$50 in his wallet



$25 in coins in his piggy bank

  
A $3,000 small time deposit that matures in four years


    $500 in a savings account

    A credit card with a credit limit of $1,000, with $250 charged on it


    50 shares of McDonald's stock, which currently sells for $20 per share


    $175 in a checking account

(a)  (5pts)  What is the dollar value of Bill's assets that are considered part of M1?

(b)  (5pts)   What is the dollar value of Bill's assets that are considered part of M2?

7.  Suppose that a lender and a borrower contract for a one year loan at a nominal annual interest rate of 6.7%.  

(a)  (5pts)  If the lender and borrower both expect the loan to have a real annual interest rate of 3.2%, what do they expect the inflation rate to be over the year of the loan?

(b)  (10pts)  Would it be true that both the lender and the borrower would be pleased if the inflation rate actually turned out to be lower than they had expected?  Explain your answer.

8.  Suppose that there exists one kind of banking deposit, and that banks are required to hold 8% of their deposits as reserves.  Banks hold no excess reserves, and the public holds no currency.

(a)  (5pts)  What would ultimately happen to the money supply if the Federal Reserve were to sell $20 million of Treasury bills?  

(b)  (5pts)  If the Fed wanted the money supply to rise by $20 million, what action would the Fed take?

(b) (10pts)   Given the Federal Reserve action described in part (a), what would happen to the Federal Funds Rate, and why? In your explanation, you should refer to a supply and demand diagram for the Federal Funds Market, and you should define the Federal Funds Rate and the Federal Funds Market.
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